KTPS> 25 [BFFTILKX]

£ Al B E A RP =Rt | BN | ABR | TRV | &F

1|HP AE (FT=RI8—%) 320 128 64 128 320

2| 5% E—EBF | (BIRRHEA 288 128 32 128 32 320

2| KM Bt (FT=RI8—%) 288 96 128 64 32 320

41 BEL (CxWLHAT) 288 96 64 128 288

5|1=1 HE BTFET=RAHBHR 224 32 64 128 224

6|78 &t (CxWLHAT) 192 128 32 32 192

6| RiZFE BEF (WDAHETC) 192 64 64 64 192

8|&=H i (FRTC) 160 96 32 32 160

8|FE AN |ERT=XH=) 160 96 64 160

10K E (T=R/8\—%Jr)| 128 0 0 96 32 128
10[=dr M |(T=X/x\—%Jr)| 128 0 0 96 32 128
10|88 B (O ASETC) 128 64 64 128
10|329E S&R (OARHETC) 128 64 64 128
14[—F X (CxWLHAT) 96 32 64 0 96
14|=F # (F=RI\—%) 96 32 0 32 32 96
14|88 ZFEzN  [(BINT=XHE 96 96 96
14|IUHE R |((BIT=XHBE 96 96 96
IHEICEEYE (FRTC) 72 0 32 8 32 72
18[5hH KE§ (CxWLHAT) 72 0 32 8 32 72
20| H Rt (7)) 64 64 64
208K —F& (DAKTC) 64 64 0 64
20(FZE BA |BET=-RHE 64 64 64
23|% ER (T=RIN—%) 48 0 16 32 48
24| FH/R EH (F=RI8—%) 40 32 0 8 0 40
25|1Fik K& U 32 32 32
25|FFH —Rk (OAKTC) 32 0 0 32 32
25(ILUH FE— (F=RI8—%) 32 0 0 32 0 32
25|58 EX CoLHAT) 32 0 32 32
25/ME BB [(F=X/—4Jr)| 32 32 0 0 0 32
25|20 BAB BFET=AHBE 32 32 0 32
25|17k #R (T=RIN—%) 32 32 32
25|FEIE FSE (F=RIN—%) 32 32 32
25|13 BEIZ (T=RI8—%) 32 32 32
25|FE Rk #t (T=R/N\—%Jr)| 32 32 32
25|78 H £ (FRTC) 32 0 32 0 32
25|78 F EHK (CxWLHAT) 32 0 32 32
37| K BE (BT 26 10 16 26
37|F=H HE (F=RIN—%) 26 10 16 26
9|EE ER  |((TLA4Liavy)| 24 16 0 8 0 24
39|/hVEF EE (CxWLHAT) 24 16 8 0 24
9|EH BEE (CxWLHAT) 24 16 8 0 24
2ELARX B—| Et53=—) 20 16 4 20
43|%1h A (#IB& TP 18 0 10 8 18
BlErs # (CoWLHAT) 18 8 10 18
45|/MiE $ER (CxWLHAT) 16 0 8 8 16
45|m1% KE§ (CxWLHAT) 16 8 8 16
45|%&HE {— A (CxWLHAT) 16 8 8 16
45|fRBE BRAT €2 4] 16 16 0 0 16
NEE EL| (T=R/8—9) 14 10 4 0 14
49| B RER (E5=—) 14 4 10 14
49|HF ESE (E5=—) 14 4 10 14
52|%% HR (CxWLHAT) 12 8 4 0 12
521t Fth (FRTC) 12 8 4 0 12
54|21 Bt €[ 3an2)) 10 10 10
55,28 BE&E (FRTQC) 8 8 8
55| FIR EAR U 8 8 8




KTPS> 25 [BFFTILKX]

£ Al B E A RP =Rt | BN | ABR | TRV | &
55| mE A (SRR ARE) 8 8 8
55|F84t = (1) 8 0 8 8
55|ftEH TIr (CxWLHAT) 8 8 8
55 )1l AR (I 2% 4R P2 ) 8 8 8
55| 4 & (LoL\HAT) 8 8 8
55|FE)Il #fE (#IB& TP 8 8 8
55|k = [(TLALIavy) 8 8 8
55| & E ZHt (LoL\HAT) 8 8 8
65[3RE EA (#IBE TP 4 4 0 4
65[{EARK HE BFET=AHH 4 4 0 4
65|JEK FEH (FRTC) 4 4 0 4
65[FE —=& (#IB& TP 4 4 4
65[BK & (FRTC) 4 4 4
65(8F 1EX U 4 4 0 4
65|%ith & (7)) 4 4 0 4
65| Tk BT U 4 4 4
65 FFF HF (FRTC) 4 4 4
65|LUAR (BET—AH= 4 4 4




